Fraser Gauge and Tool Company

the
brake
specialist
people

MERITOR DISC BRAKE

F-BK-EX225PM Meritor EX225 Preventative
Maintenance Kit

ir'_r‘.I‘J*J*f*ﬁJ":ﬁf‘ﬁf'Jﬁ:‘"f‘:l’:‘*.

Qty Description Fleetpride \ Meritor
4 Bolts- Bridae F-M4410 68120144
1 Bolt - Pad Retainer E-M3075 68130034
1 Bolt - Slide Pin [Lonal F-M1510 68130151
1 Bolt - Slide Pin [Short] F-M2510 68130152
1 Dust Cover- Caliper F-M5562 68322655
1 Sprina. Wear Indicator F-M2273 68323722
2 Boot- Slide Pin F-M1573 68323751
1 Bushina Slide Pin Bronze F-M4873 68323784
2 Cap Slide Pin E-M0984 68323818
2 Bushina. Slide Pin F-M8024 68324208
1 Caliper Dust Cover F-M6474 68324746
2 Boot-Chamber F-M4584 68324854
2 Cap. Pin End F-M8183 68324890
1 Slide Pin [Short] F-M3905 68325093
1 Slide Pin [l onal E-M4905 68325094
1 Wear Indicator F-M6335 68325336
1 Grease F-Z1906 689660917

1352 HARVARD ROAD ¢ GROSSE POINTE ¢ MICHIGAN ¢ 48230
PHONE (313) 882-9192 « FAX (313) 924-0374
WWW.FRASERGAUGE.COM




Fraser Gauge and Tool Company

the
brake
specialist
people

F-K411308 Slide Pin Kit ADB22X

Item  Quantity Description Notes
1 1 036 x 114mm
Guide Pin
2 1 Slide Pin Bolt M16x1.5x85mm
1 Slide Pin Bolt - Long 036 x 64mm
4 1 Slide Pin Bolt — Short M16 x 1.5 x
70mm
5 1 Bushing — Long Slide Pin 036 x40/
82mm
6 1 Bushing — Short Slide Pin 036 x 40 x
20mm
7 2 Boot
8 2 Ring — Teflon
9 1 Cap 040 x 11mm
10 1 Cap 040 x 24.5mm

1352 HARVARD ROAD ¢ GROSSE POINTE ¢ MICHIGAN ¢ 48230
PHONE (313) 882-9192 « FAX (313) 924-0374
WWW.FRASERGAUGE.COM




Fraser Gauge and Tool Company

the
brake
specialist
people

F-KFPKSBSN Slide Pin Kit
Replaces: K00375/K00472/K1915 Used on both SN and
SB Calipers

Item  Quantity Description Notes

Cap — Rubber 38mm
Nut Calibration

1 1 Slide Pin Long

2 1 Slide Pin Bolt — Long

3 1 Slide Pin Short

4 1 Slide Pin Bolt =Short

5 1 Cap SB
6 1 O Ring — Cap SB
7 1 Bushing — Long

8 1 Boot

9 1 Ring, Teflon
10 1 Bushing — Long
11 1 Cap Pin SN
12 1 Cap 40x11lmm SN
13 1
14 1

-l-“D
D

Hr
@O.oga
X X

1352 HARVARD ROAD ¢ GROSSE POINTE ¢ MICHIGAN ¢ 48230
PHONE (313) 882-9192 « FAX (313) 924-0374
WWW.FRASERGAUGE.COM




Fraser Gauge and Tool Company

the
brake
specialist
people

F-K010603 Tappet Kit SN and ADB22X

Description

Item  Quantity

1 2 Tappet 69mm

2 2 Seal

3 2 Bushing 18 x 16 x 10mm
®

@) (2
(3)
° el
FK010604  Tappet Kit SB 74mm
Item  Quantity Description

1 2 Tappet 74mm

2 2 Seal

3 2 Bushing 16 x 16 x 10mm

®
0@ .

1352 HARVARD ROAD ¢ GROSSE POINTE ¢ MICHIGAN ¢ 48230
PHONE (313) 882-9192 « FAX (313) 924-0374
WWW.FRASERGAUGE.COM




Fraser Gauge and Tool Company

the
brake
specialist
people

WABCO DISC BRAKE

oE== ()0 g =
— OO © -
of = WY = I “®'f o

PAN 19
F-DBK-WP1922 WABCO 19.5/22.5
1299738VT
ltem Description Notes Quantity
1 Guide Pin @38x118mm 1
2 Screw M16x1.5x120mm 1
3 Guide Pin @#38x76mm 1
4 Screw M16x1.5x80mm 1
S Metal Ring 4
6 Rubber Tap 1
7 Metal Tap @42 /17 mm 1
8 Metal Tap @42 /28 mm 1
9 Boot 2
10 Boot 1
11 Boot(white) 2
12 Bush @ 38 x42 /30 mm 3

1352 HARVARD ROAD ¢ GROSSE POINTE ¢ MICHIGAN ¢ 48230
PHONE (313) 882-9192 « FAX (313) 924-0374
WWW.FRASERGAUGE.COM




Fraser Gauge and Tool Company

the
brake
specialist
people

® ®
0.
Op— -

Ol=—" ®e %

(1) p—
(2) e

PAN 17
F-DBK-WP1/7/5 175"
1229699VT
ltem Description Note Quantity
1 Guide Pin @A30X91mm 1
2 Screw M16x1.5x87mm 1
3 Guide Pin @A30X77mm 1
4 Screw M16X1.5X70mm 1
5 Boot 1
6 Boot 2
7 Bush 34 x 30 Xx 20 mm 3
8 Metal Tap @34 /17 mm 2
9 Rubber Tap 1

1352 HARVARD ROAD ¢ GROSSE POINTE ¢ MICHIGAN ¢ 48230
PHONE (313) 882-9192 « FAX (313) 924-0374
WWW.FRASERGAUGE.COM



Fraser Gauge and Tool Company

the
brake
specialist
people

MAX X 22
F-DBK-W22X
BTW 30066 640 322 926 2

ltem Description Note Quantity
1 Guide Pin 038 x 118 mm 1
2 Screw M16 x 1.5 x 120mm 1
3 Guide Pin 038 x 76mm 1
4 Screw M16 x 1.5 x 80mm 1
5 Bushing 038 x 42/35mm 3
6 Metal Tap 042 /17Tmm 2
7 Boot 2
8 Metal Ring 044,5 x 1,25mm 2
9 Boor 1
10 Rubber Tap 1

1352 HARVARD ROAD ¢ GROSSE POINTE ¢ MICHIGAN ¢ 48230
PHONE (313) 882-9192 « FAX (313) 924-0374
WWW.FRASERGAUGE.COM




Fraser Gauge and Tool Company

the
brake
specialist
people

MAX X22T
F-DBK-X22T
BTW 30103 640 222 928 2

ltem Description Note Quantity
1 Guide Pin 038, 118mm 1
2 Screw M16 x 1.5 x 80mm 1
3 Guide Pin 038 x 76mm 1
4 Screw M16 x 1.5 x 80 1
5 Bushing 038 x 42/39mm 3
6 Metal Tap 042 x 17mm 2
7 Boot 2
8 Rubber Tap 1
9 Boot 1

1352 HARVARD ROAD ¢ GROSSE POINTE ¢ MICHIGAN ¢ 48230
PHONE (313) 882-9192 « FAX (313) 924-0374
WWW.FRASERGAUGE.COM




